Example 1

? |F, = F:: = SN
Mm=.3 &
horizontal, fictioless surface ‘2 76
. = s.on fof an ice rink. Two forces act
s e of J 2ue X
I ié’g?f.ti‘éi e F=5W
é. X = W\ Ay
F Coo (A0°) + 3 Coo(602) = Mary, Hw\ls
F G0 (200 + K G (60°) — (EN)Co (209 +(%AQuo(eo§
Oy = m 3y
@\x’ 23.99 m|s* = 29 MI@
il'-;) =m a,

'Fs,u\,\ (200) + F SAM (G()) < b
- S.w\(lo'ﬂ '\' E B S (CO9 ~L_N)Sm(9~b”)+(30) Sia (¢o?

-3%
@7 Y Mls?
|ml=h\x+a ?(:wmis) +(l‘“lhnls) —-}33.9:m/s‘]
o= tur’(82) = u” (Finfe) =304 =BT

Newton's Laws Page 1



Example 2
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cables make angles of 37.0° and 53.0° with the

horizontal. Find the tension in the three cahles
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Example 3
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